The « find a winner » method
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I have worked on a little strategy during the past month. I think I came up with something. When I was studying my indicators, I realized that there were certain patterns in the way that they form combinations. Certain combinations of the stand of the indicators result in a certain signal. Let me explain it with an example.  
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In this example, you can see the following:
JMA>JJMA, OSMA above zero line, Filter_AO below zero line and green colour, stoch RSI crosses 75 line upwards, PCCI below zero.

This would result in a sell.

So you see the pattern (it’s described just above) The leading indicator is de stoch RSI, when this one crosses the 25 or 75 upwards or downwards, we are going to look for a pattern like for instance the above.

Another example:
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JMA>JJMA, OSMA under zero line, Filter_AO above zero line and red colour, stoch RSI crosses 25 line upwards, PCCI above zero.

This would result in a buy.

I hope you get the picture by now. 

Okay, now is the time I need your help. In this system, with these patterns, there are 128 different combinations. So we have to know, which one gives A. Bad/false signal, B. Buy signal, C.Sell signal. Maybe someone can make an EA for one condition, so we just have to adjust this EA to test all the other 127 possible combinations.

Hope we can solve this, I think the system is interesting.  
